MAT2705-01/04 035 Test 2 Print Name (Last, First)

Show all work, including mental steps. in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols {introducing them if necessary).
and usc arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem. [See long instructions on reverse].

D 3% +X,=3x3+ lUXg +10Xs =0
5X) +8Xo42X3 =2X¢ + T Xs =0
22X, + 5%, ~¥X4 + 4% = O

ay Write this system of equations in matrix form: Ax=0.
b) Use fechnology v comp\de\g reduce the augmented matrix S {or this system
fo s rref form. Write down ygour result for rref(S),

c) Write out theequivalent sysiem of three equations corresponding to this reduced
maknx and idtenHﬁj the \eadmg (LY and f-ree (F) vanables,

d) Write down the general solution  X\=.., X2=,... and also {1 column
i fom = [2].
: linear

) Express your result as on Grbim\yhcomblnqhbvsog' column matnees  matnces
whicn fbm a basis OE the solubion sPa,ce_

@ ‘\}’l: 1,2, 2y Is {%‘I,%,(Z,} a ln%earlnj [ndependen‘t— set of vectors ?
VA [-5-3,4} T{they are oot, find and wette down the independent
Vs"“' (-3 ’ 2] linear relahonships among them, Show allof your
w= [-,95) supporhing Work and explain Now you draw Your Conclusion,

b) Can W be expressed as q linear combination of these vectors ¢ ITf so,
- .—’ ) )

doso, V&, express W as an exphal linear wmbination of them, Showall

supporhng work.

@ X"'BS“BZ =G a) Write this SBS{F-’NDE ecLuq‘ﬁons (r m"ti‘ﬁ.}( ]CDN’\ “
~X ¥y +22Z=4 Ax=b, |
Ax~3y=3Z= 9 b) Use fechndogy 1o §ind and wrte down the

inverse matrix A
¢) Use the inverse matrix 4o solve this system Ce‘xp\mh whatyoy do)
Write down your final resutt s the form:  X= o, y=oo 2=
d) Sugpose the '_ﬁr‘S‘\'ecLuaﬁon is changed o AX—3y-3z =6 Use
tednndogy to evaluate  det (A) for the new systen,. Report e resutt,

Can we shil sclve the new sysiem s the same way as before 7 Explain.
Can we solve the new S\&s\fm a¥r all? F.;.)(p'lqih.



